Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - IV-EXAMINATION — WINTER 2015

Subject Code: 3342201 Date: 12/12/2015
Subject Name: Mine Surveying - [
Time: 02:30 PM TO 5:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assaumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic,

ABUE B

Q.1 Answer any seven out of ten. EAHLIl SlBUBL Ulctoll wellel AL, 14
Define True dip and Apparent dip.

g Slu ua A2 Sludl cavaud 53,

What is Traversing ?

HIARWEL vled g 2

Define : Face right and Face left observation

3 AB2 ol U dse Ilatel ceuvald s

What is bearings ?

dlFoL Aed g 2

Define : Transiting

2la{l oL amenal.

oL X R WA P

Define : Swinging the telescope and Telescope normal

2[Arslue] RABloL 2ol (AU ol uMan Al

7. Give the names of steps included in temporary adjustment of theodolite.
@elsleusSes(l stuctl slsaR{Hl UHlaHL ALl WILAHReL

ol UL

3]

8.  Define : (1) Back sight (2) Fore sight

¢. calvRll UL ; (1) ds wWse () sl we

9.  Define : (1) Strike Line (2) Line of collimation

¢, clluRll AU : (1) WSS L () slelA et 2

10.  Give the names of errors in theodolite
10. ([@alsleugemi udl gelletl ot 2l

Q.2 (a)  Explain the Repetition method for measuring horizontal angle. 03
Wsl.? () Yoot yeald o aler sle suuatell e dHenal, 03
OR
(a)  Explain the Reiteration method for measuring horizontal angle. 03
) AélRetet e o alder slel Hiwalell ld aHasal, 03
(b) Explain temporary adjustment of theodolite. 03
173
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) @slcusel vl olsael sl 03

OR
(b)  Explain permanent adjustment of theodolite. 03
@) Eruslcuseedl il sllsael aHasdl. 03
{c) Explain various uses of theodolite in mine surveying. 04
(5)  wllel dcfael @eAslcugestl opel-arel Gulloll cull. 0¥
OR
{c) Draw a neat sketch of a vernier theodolite and name its various parts. 04
(5) [@alslcusseel 22 gl €l wal doll yel-oel elollell oM cull. 0¥
(d) Differentiate between open traverse and closed traverse. 04
(8) el MWl Al ol HieRueL Aol dstad dul. 0¥
OR
(dy  Explain the Bowditch’s method. 04
s) oG urald AHencl. 0¥
Q.3 (a)  Explain the Transit rule. 03
i3 () gledfle [Aan uHandl. 03
OR
(a)  Explain in brief closing error. 03
) slwlol AR UlARclR UHstal. 03
(b Explain any one fast needle method. 03
@) slurl As s o{lsd A anadl 03
OR
(b) Explain any one loose needle method. 03
(o)  sleuRl As ¢ ollsd A Axal, 03
{c)  Explain subsidence measurement. 04
5) w3 MRl uHendl. 5 0¥
R
{c) Explain any one method for measuring the depth of vertical shaft. 04
5)  @ell auseddl st Hiven 2ol S8 As weu( wHan Al 0¥
(dy  Explain in brief tests of a miner’s dial. 04
(8) HISaA slace] &l Az ALl 0¥
OR
(dy Explain advantages and disadvantages of dial surveying. 04
(5) sl Adateloll stAEL ol ARsLAER cull. 0¥
Q4  (a) Convert this W.C.B to R.B (1) 35° (2) 125° (3) 185° 03
Yg.¥ (M) W.CBARB HiL 3l (1) 35°()125°(3) 185° 03
OR
(a) Convert this RB to W.CB (1) N45°E (2) S35°E (3) S 65° W 03
() RBAWCE HL 52dl. (1) N45°E(R)S35°E(3)S65°W 03
(b) Define the terms (1) Latitude (2) Departure 04
(o) YE(l AHasal.(1) wWallal () wmia 0¥
OR
(by  List the steps of carry out traversing adjustment. 04
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(o)
(c)
(8)

Q.5 (2)
us. v ()
(b)

(o)

(c)

(8)

(d)

(s)
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Hielduwee(l olsall HI2 &l YRaHL dlacl watd el gl 4l

Draw a neat sketch of miner’s dial and name its various parts.

HSetd stacs(l 269 vus(d €131 ual ayel-ayel ettt it cull.

Write general requirements of a mine plan.

LSl wetlotoll ALHLeL g3 aAl el

Write importance of surveyor in mining industry.

Uclatple(l wotol Gallotl HeTll CLull.

What is local attraction? How to detect local attraction?
wlls 2usval 9 & 2 wills vusda 3l A wuale
Write short note on Gyrotheodolite.

ausA [@alslause Qur &s ot cull.

e e ook sk sk fodeskok
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